PARAMETRY TECHNICZNE DROGI :

predko$c projektowa 30 km/h

S o N
& s E| Q w
v 2 2 R —
E @ 24 5 <E 3| § w
89 9 : B35 5 |58 =
5 & & 8 - N < o c3E| 8 |58 z
2 : £ £ 2 N ) g xZ252 3| | s -
IS © 8 i~ = Z S0 5| © g g >
R P c e 2 2 = 2 S o ; o N 9| o g g e
£ @ @ o o o > ) © =) E 3 32| o - e n N
5 T & & & ® S S g Swm-ssg8| £ 5|88 | =2
¥ E 3 3 3 3 2 2 = Uosss|d|s|s|ls| B
- N @ O [e] [e] [e] [e] [e] [e] © © _ H S S
g 32§ = X X X < < < DwIgs| 3 | 8|53 e)
e £2 S o 0 o o o, <, 3, Wsctg|g2l818] F
S Os§ g o 9 9 9 o o S R -] =
gEx §8 L 5 & a & S S s OO <~ 3 z < < 3
2338885 oo ' ' ' OzZ’&:z 3| % 215 | x
T2 NIERYD < %mﬁgg S| |€|€ %
§8888ss z <ﬂcﬁr"“. gl2|s|s H
SESVEES 3 SoFz|s|i|§|8| B
§§§§§§§ e oIs8Yg| |z |o|a| @
A NN
R R A ] 2" gasl g 2| 2
£ soc| s3] &
% NR N <| = o %
w e %8 ° o Wi 3 S8
— 8 N - | E|5|sTa
II Ndv13 %31%¥z30d § = ~
¢ 4 0['68 r 00'0
00°00k+¥ Wi I Ndv13 JIINON 020 0c'e8 g S
LN wm wm <
- o (a1 g
2] 1oIMp0 |
07+ E £
DS 4 & ¥ Q|E
D (e -~ g ;
1~
=%
o
'_
£
R
T
=
£
&
= 1
S [274 .
= —F e
e L
‘ . neop ‘ S L ¢
g G0 SI'es - 0888 = 01'GI
3 ed 5 L g
g 18'C0e+y Wi 1S pzofZ | €168 o S
S - % —O
= o
b
Gy'882+% W 1S AMOPOPIS Dv)d + OOl / 0168 —| o Sves
600 6068 - 00'68 - 0v'18
£
[6)]
™~
Ns)
s
~
- €675
-
~
[e6]
[qU]
1l
A 2
& tan| £ ’
020 \ 0068 08'88| = |r 02'0€
m \ ey'e2a+y Wi 15 pzolz | 8688 T %"9989{
06'BI2+Y W dS pzofz [ 9688 =
Y 5
&= vL'L6)
S
&
Q
3
o
1l
D
70 1888 - 07’88 - 08'69
1,88 - 99'v€
‘ - 1582
A i 0,88
) G\
N8} od S
© qo [ 5 wn B8] cye8 L 0P9l
oo 820 €88 S
N popnpTs
/ £
£6'88 2| | ooreg©
= Q
—
AN 3
= /é 168 - c0%8
o
e0]
v =
g g“—' 11 11
€10 eeeg|S=s [ 068 - 00°/9
poppTe
‘ - 99'€G
| €€ - 866
LU I S " 1668 .\ [ 0068 - 06'61
[al (a1 (a1
i I]_3431Mpo | |
3 000+ 191 _ _ o
_\C‘S ko —k hev] ¥
c e S
g —l
= S
> 98'68 r 88:86 ﬂ_
B Gy'886+E Wi dS AMOPOPIS D01d + OXUO[N G268 r S8
P \ 82'LL
g
& \\c GP'696+E WY dS pzol7
% C8 3 -
o S -
610 (K} legl[ESR r e8| T| ¢ oorss
pplons &
o
(N8
L
, ‘ e L 09'9¢
€0 \\ = ?ggg\ 50'88 - 3%
[6'18\e = - 0072
o
~
™
A 06T
GE'/8 A
~ —O
(@]
™ ) S
0 99 9898 gg% 098 - 09'88
v JOpIpTS
0/°98 - 29°0L
E [4
0,98 ol [ Lvis
5
<
S b= w
'\\ g %i,\ —
8B 620 ] 6./98 SE&3| 0598 - 06'2¢
v poppTs
90/8 - EG'ET
—O
110 99°/8 - GG'/8 - 0818
L¥'S9
-
-
~
o
™
pa !
N~ P B ¢
o vv'88 080y
[00)]
he N o
o 1% S=u | oo 01'L2
510 | ] co88[S=S 0588 Jie
S L1'88 - Ov'ET
(a1
+
g
= ne
-
00069+ WX 1S AMOPOPIS D014 + OXUO[I 0688 j - 00706
3
W
220 1068 - G8'88 - 089G
~
oo
/ 7
[ y2T29+E Wi dS pzo[7 | 9268 P [ be,
+ oG/ 19+6 Wi I3 pzorz [ 8268 LS G
a o & <
0] 2JaImpo | | | T
¥ -
009+E ] P R — o
620 = = 6668 - 0168 - 06'G6
£
[qU]
~
i}
E‘
m % ,
, 7T 8L'68 rlLce
o0 1/7236+€ Wi dS pzol7] BLEE 0/68 et
—O
90°2L
m 070 0106 - 0L'68 L0499
v8709v+E Wi ds pzorz | EL'06 - 7809
u
S
(a1
+
S
XX
<
K=
-
[66er+€ Wi dS AROpopis doid + oxuo[i | €06 - Le'6e
| 0406 A |
3 -— I
7 e 906 Coets| 2| L oogue O
> 3
2 2
I
6 —| L 008
S 35%2 T G2'6L
S
QU]
o
v -
200/ 2816 - 0816 - 0109
4096 - ¥60F
g ,
CE'Z06+E Wi 15 pzorz | 0126 o [ ¢
4| e
I
B £v'26
£
Ns)
~
[qU]
A ™
(an] I
o - 0L'69
8126 - |
(O] o ‘
v 1IN 8126 5 N A
L10 2g|ESg T 0026 T |- 0266
IS =
1196 £ |F 0L'8Y
S
Dllé
— 59'/2
S
&)
]
9E‘0 9/16 - 0¥16 - 0L
L. .. E
G Moo | |
002HE W] _
~—k =2 ¥
-
(No)
@
g &
3 T
g 2
= 020 0£'T6 06 - 09'eS
3
\EUOIovL‘-S u>1 —lg AMOpO})'S Do]d + OHUOF!N 9['[6 L 001017
020 0,06 0G'06 -0
6188
£6'68 - 20709
: \
Ip]
2 ) =
D L20 2068 B35|r Gr'es L 09'Ch
v NP4
c9'68 - €17
@D
050 c9'68 - GI'68 - 0906 .
s
&
010 c9'68 G568 - 0G'¥E
£
B
<
&
0968 N 26
N\
G —o
o
S (RS _
& =4 . .
900 eg|Sg= r €68 - 01'E8
poppe
u
S
(a1
+
S
XX
S ‘ L 8265
= \\\\\ AR - Ga'og
0070S8+2 WA 1S AMOPOPIS D0id + XUl 1,88 - 0005
a
@ X -
00)] §£ ¢ ¢
o 9£0 9p'ggl B2 0188 - 09'PE
e TN T
, 9c'88 - 09:[1
1688 F ¥6°2l
N um wm
a- [m N [m N
8 14alMpo ‘
et [ T T —O
/||' el /II' (QN] /||'
&
2o [T /7’88 - GE'88 L0908
8c'gs - IE'GY
:
3 Sa 00'22
620 /88 %Cﬂ‘?% - G'88 " 00'dd
8068 L 69'86m O
-
Ip}
(00]
-
()]
m L
820/ /] £9°68 - GE'68 - 0769
68'C99+2 Wi sluomozAzurg | 0468 - 6859
A ,
ad 16°68 - 97’ vS
S
[O)]
he N o
910 or06||EES - 0006 - 06'8E
, L yE'E2
l// £€06 b1'E2
2L019+2 Wi 15 pzo[7 | €V'06 - el
2 O
(a1
+
S
X
<
el
-
>
1 : ‘ L 22'9L
o - il |2 ovos - 0rEL
£
o
o
ip}
E‘
80'T6 - SL'eE
/\ g
< [an)
~ Su , ,
o~ G20 ca'16l 228 00776 - 0181
2 / i
YCT16mS - Gy
)
~ v6'16 - 89'G8
i)
<
d
[O))]
R S - 1089
800 ([ 7 ec26|Ea r 6226 - 099
poppTe
m 1¥'26 - eSTy
£C'gap+2 Wy aluomozAzas | 8v'2h - €6'82
ol & a
[ 143Mp0 |
007+2 W] - _
| o] . b= .
: -
110 1826 - 0v'26 - 08'v6
~2
&
DS
™
<
(Ip]
T
—
S0 cCa6 - 0126 - 080Y
u
S
o
+
S
X
<
K=
-
‘ - 00S
00'G0E+2 Wi 1S AMOROPS D0)d + DO uUol1H | 856
—O
o
020 0926 0v'26 - 02'/8
§~
020 0526 0€26 - 017€
—O
[ E [
€0 ‘\ £1'26 é - 0776 =T 09'vL
& S
S =
- = e
= g > _ —
(@D O [ — [ L
e — ol o> Lol - =
S — a | — — —
Lol L] - - <
S S | = = - o
= & Lo — (| <T I
SN — Lo — O —
© 0 — - = S >
O L. = Lo E ~ g
- Lo = J L
S S = = = = L =
S o (g Lol L) N _ =
XY X N _ N 1 - —
o) W v Lo ' Lo ] v




